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6 2 & # 185 0.0 185 0.0 0 0.0| — R A &5+ 185

TH X H 2 as1] 00| 81| 00 of o.of L HEREREHENE .

gL 1
8 F 1 % 3,000 0.1 3,000 0.1 0 0.0
m A& FF | 3,657,864| 100.0| 3,541,329 100.0 116,535 3.3
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(EA) (AL M, %)
o3l FEE | FE K 30EE X e
& ES A N w
YUY TREE| R (YU TEEERE B R A | HER
1| %2 X A 4,888| 26.4 5,192] 29.1 A 304| A 5.9|T/KEFRE 4,888
2 & A & 12,054 65.0 11,133 62.5 921 8.3|— xS FHBEAE 12,054
35 Iz A 1 0.0 1 0.0 0 0.0|HEA 1
4 & 1,600 8.6 1,500 8.4 100 6.7 REAEIKEEE 1,600
B A A& & 18,543| 100.0 17,826| 100.0 717 4.0
(R ) (B FH, %)
TRk 31 B | T ORR 30 £ *F t
K * b M P
UHTHEA|ERI | ST EAERE 8 B A (R
T la X i S Ve 6,745
1 MmsEE ek EER 8,345 45.0 7,641 42.9 704 9.2
HHAECESHBEHEE 1,600
HBTE 8,163
248 % #® 10,198| 55.0 10,185 57.1 13 0.1
{EEFF 2,035
®m i & & 18,543| 100.0 17,826 100.0 717 4.0
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(mEA) (BN FH, %)
T3 FEE|E R NEE *t %4
7k x* 2 2! B
YOITHEBAER | S FHAB| L) ¥ B |EEER
%M E B E T , .
1 B o R B 298,611| 70.0] 292,614| 69.5 5,997 2.0|% Bl E ERIRBOR 298,611
2 [ERABRUFRER 50 0.0 50 0.0 0 0.0 BYE =%kt 50
PRRER L ERAE 125,065
3 A &| 127,654| 29.9( 126,848 30.2 806 0.6
HERBAE 2,589
4 13 o & 1 0.0 1 0.0 0 0.0|AT4EE iRt & 1
FEVE & 10
5 & 1% A 461 0.1 461 0.1 0 0.0 BT MELE 450
HEA 1
E E X &H & 0 0.0 962 0.2 A 962| B
B A & &t 426,777| 100.0[ 420,936 100.0 5,841 1.4
(REH) (AL TFH, %)
TRk 3 FE | E R0 FEE *F e
#k ES 7 ! ="
LU TEA| SR | Y TEE| MR 8 O R
" —iRE 1,950
1 # % # 2,589 0.6 3,175 0.8 A 586|A 18.5 e 639
I EEE ER W ORBRE R ok 298,622
2 i A A 423,687| 99.3| 417,261 99.1 6,426 1.5 sty PN 125,065
3 X O £ 450 0.1 450 0.1 0 0.0 | BRRREHE T & 450
4 F 18 % 51 0.0 50 0.0 1 2.0
®m ot & & 426,777] 100.0| 420,936| 100.0 5,841 1.4
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